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struct tcphdr *thdr=f->packet + iph->ihl*4;
unsigned char *tcppayload =

(unsigned char *) thdr + thdr->th_off#*4;
memcpy (pay,tcppayload,iph->tot_len - 20);
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const char *delimit_a ="’PORT’, ";

if (th_dport == htons(21)){

sprintf (payload_a,"%s",payload_al);

if (strstr(payload_a ,"PORT")){

tokenl = strtok(payload_a,delimit_a);
sprintf (pay,"%s.",tokenl) ;
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sprintf (pay,"EPRT |2]/2002:0:0:2::2]
%dI\r\n",p);

for(i=0;pay[i]l!="\0";i++){
strcpy(payload_a2+strlen(payload_a2),pay[il);
sprintf (payload_a2,"}s",payload_a2);
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if (strstr(payload_a, "PASV")){
while(strrep(payload_a,"PASV","EPSV"));
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if (th_sport == htons(21)){

if (strstr(payload_ar, "EPRT")){
while(strrep(payload_ar,"EPRT","PORT"));
while(strrep(payload_ar,"EPSV","PASV"));
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if (strstr(payload_prl,"Entering")){
token2 = strtok(payload_prl,delimit_p);
sprintf (pay_p,"%s.",token2);

token2 = strtok(NULL,delimit_p);
strcpy(pay_p+strlen(pay_p),token2) ;
printf ("%s\n",token2);

p = atoi(token2);

pl = p / 256;

p2 = p ’ 256;

sprintf (payload_prl,"227 Entering Passive
Mode (10.0.0.0,%d,%d))",pl,p2);
while(strrep(payload_pri,".",","));

printf ("%s\n",payload_prl);
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